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Limit03 Answers for No.9844

_iﬁ_
| 2 2 x-2 11 7
A=(lim 4x"-2=34) 2=(lim (4x+1)(2x —x+4)=25) S=lm —————=0 M
x—3 x> 1 xo2 3x —4x+2 u
100 — x 5-4x+3 -l
.4:(1m1-—————:mﬂ .5:(hm _______:_J 6=(lim 4/ 1 —x = undefined) !
x—>100 10 —4/x x2  X—22 10 x> 1 h
Ansl = | 1| 3 1 , @@
X - X -
.7:(hm|x+1|:4) .8:(hm :umkﬁmﬂ] .9=(hm —7—————=—j M
X3 vl X—1 m»%|x +x—12| 7 U
11 _ 6x —11x+4
A0=| lim T7-—"=o Al=| lim = undefined Math@MUT T
L x%&|x| X x—(4/3) |3x—4| 11
) _‘.r(_
A=[1lim f(x)=-4, lim f(x)=4, lim f(x)=undefined |
x— 0- x— 0+ x>0
2=[1lim g(x)=4, lim g(x)=4, lim g(x)=4]
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=8 lim f(x)—g(x)=-8 lim f(x)g(x)=-16
x— 0+ x—0- x—0-
3= . f(x) :
lim =1 lim g(x)— f(x) = undefined Math@MUT
L x — 0+ g(x) x>0 |
A=(lim f(x)=2) 2=(lm f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—2- X — 2+ xX—>2
| 4=( lim fix)=-2.) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x> (-22)- x> (2.2)+
[Page = 0001]

x—(22)
DO0:0:0:0.0.00:0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.
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Limit03 Answers for No.9872

I

i
I : 3 2 : 2 2 : 2x-1 AT
A=(lim 4x +4x +2x+3=55) 2=(lim (5x +3x+1)(4x +x)=2145) 3=|lm ——— =" M
x—2 x—3 x4 2x +2x+3 43
Jx—8 1 x-18 !
x_ —
.4=(lim :—J .5=(lim —=8j 6=(lim +/2—x =undefined) || !
Ans] = r>es X—64 16 xo18 A/x—2—4 x 2 h
. o x- @ =7x+10| '@
7=( lim |x+1|:0) 8=\ lim 77 =undefined I=1lm ———=3 M
x—(-1) x—2 x_2| xX—2- x—2 U
| 3 . [3x-2]
A0=| lim ——=7—7=0 Al=| lim ) = undefined Math@MUT T
L x>0+ X |X| x—>2/3) 3x =17x+10 11
) _‘.r(_
A=[1lim f(x)=-5, lim f(x)=35, lim f(x)=undefined |
x— 0- x— 0+ x>0
2=[lim g(x)=-5, lim g(x)=-5, lim g(x)=-5]
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=0 lim f(x)—g(x)=0 lim f(x) g(x)=-25
x — 0+ x—0- x— 0+
3= - fx) :
lim =1 lim f(x) g(x) = undefined Math@MUT
L x—0- g(x) x—=>0 a
A=(lim f(x)=3) 2=(lm f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—3- x =3+ x—3
| 4=( lim fix)=-4) S5=( lim f(x)=-4) .6=( lim f(x)=-4.)
x> (-4.9)+ x> (-4.9)

x> (-4.9)-
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Limit03 Answers for No.9873

1
I

A
o, , , , CoF-2x-2 1)]] Y
A=(lim 4x -3x"+x-3=-1) 2=(lim 3x"-3x-3)(4x" +4x)=720) 3=|lm ——— =+ M
x> 1 x—>3 3 3x +2x-3 30 a
) x— 64 ) 13 -x ) /
4=\ lim =16 S=| lim —F——=38 O=(lim y/x—1=1)
x> 64 ¢_—8 x>13 4—4/x+3 X2 h
Ansl = )
, o x-3 , x-3 1 @
7=(lim |x—1|=0) 8=| lim = undefined 9= lim ————=_ w
x> x>3 X—3 xey¢x —x—6| 5
11 _ 5xX+7x—6 v
A0=| lim —+77=0 Al=| lim ——F -7 =undefined Math@MUT T
L x—>0- X |x| x—(3/5) |5X—3| 110
] _‘.r(_
A=[1lim f(x)=-2, lim f(x)=2, lim f(x)=undefined]
x—0- x— 0+ x—>0
2=[1lim g(x)=-4, lim g(x)=-4, lim g(x)=-4]
x—0- x — 0+ x—>0
Ans2 = lim f(x)+g(x)=-6 lim f(x)-g(x)=2 lim f(x) g(x)=-8
x — 0- x = 0- x— 0+
3= o flx) -l :
lim = lim f(x)+ g(x) = undefined Math@MUT
L x— 0+ g(X) 2 x>0 |
A=(lim f({x)=1) 2=(lm f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—2- X — 2+ xX—>2
| 4=( lim fix)=-4) S5=( lim f(x)=-4) .6=( lim f(x)=-4.)
x> (-33)- x> (33)+
X [Page = 0003]

x—(3.3)
DO0:0:0:0.0.00:0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.
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d=(lim 2x*+3x+1=28)

x—3

4 (r x4 4J
4= m =
x—>4 1/7—2

7=(lim |x-3|=1)

x—2

x—3

.5:(lim
xX—>5

Ansl =

2=(lim (x+4)(5x —4x"—x)=672)

X
8= ( lim 77— = undeﬁned]
x—3 X—3|

x-4-1 1]
x-5 2

|5x-2]

lim

2 2
.10:( lim —

x— 0+ X |X|

x— 0-

x—0-

x—>0
Ans2 = lim f(x)+g(x)=3 lim f(x)-g(x)=7 lim f(x)g(x)=10

x— 0+ x— 0+ x — 0-

3= _ ftx) 5 :

im == lim f(x)— g(x) = undefined Math@MUT
L x — 0- g(x) 2 x—>0
A=(lim f(x)=3) 2=(lm f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x — 4+ x—4
A4=(C lim f(x)=-5.) S=( lm flx)=-5.) .6=( lim

x> (-4.7)-
[Page = 0004]

x— (-4.7)+

Oj Al :( 5 = undeﬁned]
x—@2/5) 10x*—=19x+6

Ad=[1lim f(x)=-5 lim f(x)=35, lim f(x)=undefined]

x— 0+

x—0

2=[lim g(x)=-2, lim g(x)=-2, lim g(x)=-2]

x— 0+

x— (-4.7)

.3:(lim
x—>4
6=(lim 43 -x=42)

.9:(lim
x— 1-

Math@MUT

x—1

f(x)=-5.)
):9:0:0.0.:9:9:9.9.9:0:0:0.9.9.9.9.9.9:9:0:0.9.0.9:9.9.9:9:0:0.0.0.0.9.9.9.9,0:0.0.0.9.9.9.9.9:0:0:0.0.0.9.9.9.9:0:0:0.0.9.9.9.9.9:9.9:0:0.0.0.9.9.9.9,9:0.:0.0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0:0.0.0.0¢

55 -2x+2 :n4}

x+1 5

|x2—5x+4|_

x—1
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Limit03 Answers for No.9885

J=(lim 55’ -x-2x+2=4)

2=(lim 3x +4x 1) (5x+1)=429)

1
I

X —X

2
.3:(lim S
x>l 2x +x+3

(
11
=0 M
x—>1 [ x—>2 a
-2 1 x+4
.4:(lim :—j .5:( lim —:-2] 6=(lim +/1—x = undefined) || '
Ans] = x4 XxX—4 4 x(4) 1—=a/x+5 X2 h
_ , - , x—2 1) [| @
7=( lim |x-2|=4) 8= lim ——— = undefined 9= lim == Y
x> (2) x> 1 X—1| x> 2+ |x —x—2| 3 U
5 5 , |5x-2]
A0=| lm 7—7-—=0 11=| lim 5 = undefined Math@MUT T
L x - 0+ |X| X x> (2/5) 15x " +14x-8 Iy
) _‘.r(_
Ad=[1lim f(x)=-5 lim f(x)=35, lim f(x)=undefined]
x— 0- x— 0+ x>0
2=[lim g(x)=-2, lim g(x)=-2, lim g(x)=-2]
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=-7 lim f(x)-g(x)=-3 lim f(x)g(x)=-10
x — 0- x—0- x— 0+
3= . flx) 5 :
lim = lim f(x)+ g(x) = undefined Math@MUT
L roor 8(x) 2 x—0 i
A=(lim f(x)=4) 2=(lm f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—4- x — 4+ x—4
| 4=( lim fix)=-4) S5=( lim f(x)=-4) .6=( lim f(x)=-4.)
x> (-4.6)-

[Page = 0005]

x> (-4.6)F x> (-4.6)

),0:9:9.0:9:9.0,9:9.0.9:9.:9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.0.9:9.:9.9:9.:0,0:9.9,0:9.9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9.:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0,9:9.9.9:9.0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:¢
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Limit03 Answers for No.9895

(
o _ . 2x+3 1| Y
A=(lm 4x"-2x+1=13) 2=(lim (4x-2)(4x -3x"+x)=840) 3=|lm — "= M
x—2 x> 3 2 4 +4x—4 36 u
-X
.4:(hm'————:2) (hm =40] .6=(lim 42 —x = undefined) 4
x> 1 I—J; x—>27 X -5 X2 h
Ansl = 2 )
| | |x—1| [ ox—2 @
7=( lim |x+3|=0) 8=/ lim = undefined 9= lim ———— =23 Y,
x—(-3) ro1 x—1 x—2- X = U
2 2 , 6x°—7x-3
A0=| lim ——77=-—o Al=| lim ——_— 7  =undefined Math@MUT T
L c0- X |x| x> (3/2) |2x—3| -1 )
) _‘.r(_
Ad=[1lim f(x)=-3, im f(x)=3, lim f(x)=undefined]
x— 0- x— 0+ x>0
2=[1lim g(x)=-1, lim g(x)=-1, lim g(x)=-1]
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=2 lim f(x)—g(x)=-2 lim f(x)g(x)=3
x— 0+ x—0- x—0-
3= f(x) :
lim =-3 lim f(x)+ g(x) = undefined Math@MUT
L roor g(x) x>0 i
A=(lim f(x)=3) 2=(lm f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x — 4+ x—4
| 4=( lim fix)=-3.) S5=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x> (-2.8)- x> (2.8)+
X [Page = 0006]

x—(-2.8)
DO0:0:0:0.0.00:0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.
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Limit03 Answers for No.9899
. 3x+3 9
3=| lim 3 ="
29

(

| 2 3 2 %
A=(lim 2x" -2x-1=-1) 2=(lm (x-2)(4x —4x"+2x)=0) M

x> 1 x—2 x>2 4x =3

Jx-1 1 X-9 “

.4:(hm :—j J:(hm'——————:4j 6=(lim +/3—x=42) t
x—>1 x—1 2 x—>9 x—5-2 x—>1 h

Ansl = ) ,
) ) 3—x ) |x—2x—3| @
]:(hm|x+ﬂz2) .8=| lim 7——7 = undefined Y= lm ——— =4 M
x—>1 x—>3 x_3| x =3+ x-3 U
3 3 _ 30x2—37x+ 10

A0=| lm ——=77=0 I1=| lim = undefined Math@MUT T

L x>0+ X |X| x> (5/6) |6x—5| Iy

) ) L ‘.r(_
d=[1lim f(x)=-1, lim f(x)=-1, lim f(x)=-1]
x—0- x— 0+ x—>0
2=[1lim g(x)=-4, lim g(x)=4, lim g(x) = undefined]
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=3 lim f(x)—g(x)=-5 lim f(x)g(x)=4
x— 0+ x— 0+ x— 0-
3= . fx) 1 - f(x)
lim =— lim = undefined Math@MUT
L ro- gx) 4 x>0 8(x i

2=(lim f(x)=5) 3 =(lim f(x)=undefined)

J=(lim f(x)=4)
Ans3 = x—5- x— 5+ x—5
“l4=( lim fx)=-3) 5=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x—(-2.6)+ x—(-2.6)

x> (-2.6)-
PN ETSEEI A TID'660°0:0:0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0
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Limit03 Answers for No.9920

x— 0-

x—0-

X [Page = 0008]

i A=[1lim f(x)=-3, lim f(x)=3, lim f(x)=undefined |

x—0

x— 0+

2=[lim g(x)=-2, lim g(x)=-2, lim g(x)=-2]

x— 0+

x—(-59)+

lim f(x)—g(x)=5

- 3 2 - 3 2 oox+l
Ad=(lim 5x+3x"=52) 2=(lim (3x"+2x -=3x)(3x+1)=182) 3=| lim =-1
x—>2 x—>2 x—>1 2x—
25 —x 14 —x
.4:(lim :10] .5=(lim —=8J 6=(lim 42 —x = undefined)
x—25 5—«/; xo14 4—4/x+2 x—3
Ansl = )
, o ox- P -7x+12]
7=( lim |x+3|=0) 8=| lim = undefined 9= lim — =1
x> (-3) o1 X—1| x> 4+ x—4
A B _ 20x*—19x+3
A0=| lim 77-—"=0 Al=| lim = undefined Math@MUT
L X 0+ |X| x x> (1/5) |5x—1|

x—0

lim f(x)g(x)=-6

Ans2 = lim f(x)+g(x)=-5
x — 0- x— 0+ x— 0+
3= . fix) 3 . f(x)
lim = lim = undefined Math@MUT
i ro0. g(x) 2 x>0 gx |
A=(lim f(x)=2) 2=(lm f(x)=3) 3 =(lim f(x)=undefined)
. x - 2- x— 2+ x—2
ASS= 4 lim f(x)=-5) S=( lim fx)=-5) .6=( lim fx)=-5)
x—>(-5.9)

1

SleNag@®s -~ xelk

I

x> (-5.9)-
DO0:0:0:0.0.00:0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.
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Limit03 Answers for No.10000

J=(lim 4x*-2x-2=28)
x—3 x—>2

2=(lim (x+2)(2xX +3x°+2x)=128)

.3=(lim
x—3

x—281 AVJx—-4-5 -1
.4:(lim :-18] .5:(lim —:—j H=(lim 43-x=1)
Ans] = x—>8 9—4/x 29 29-x 10 x—2
) ) - X ) x—=35
7=( lim |x+1|=0) .8=(llm —:undeﬁnedj .9:(hm - =
x> (1) X3 X—3| X5 |x —3x—10|
R _ l6x—1|
A0=| lim —+7 7= A= lim 5 = undefined Math@MUT
L x>0+ X |X x> (1/6) 12x"=20x+3
i Ad=[1lim f(x)=-5 lim f(x)=35, lim f(x)=undefined]
x—0- x— 0+ x—>0
2=[1lim g(x)=-4, lim g(x)=-4, lim g(x)=-4]
x—0- x — 0+ x—>0
Ans2 = lim flx)+g(x)=1 lim f(x)-g(x)=-1 lim f(x)g(x)=20
x— 0+ x—0- x—0-
3= . flx) 5 :
lim = lim f(x) g(x) = undefined Math@MUT
L x — 0+ g(x) 4 x—>0 |
A=(lim f({x)=1) 2=(lm f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—2- X — 2+ xX—>2
| 4=( lim fix)=-6.) 5=( lim f(x)=-6.) .6=( lim
x—(-5.5)-

[Page = 0009]

x> (-5.5)+

x—(-5.5)

x+2

3x2—3x+4_22j

f(x)=-6.)

),0:9:9.0:9:9.0,9:9.0.9:9.:9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.0.9:9.:9.9:9.:0,0:9.9,0:9.9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9.:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0,9:9.9.9:9.0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:¢
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Limit03 Answers for No.10017

J=(lim x’ +4x*—2x=20)

x> (-2.2)-

X [Page = 0010]

2=(lim (5x°=1)(x=1)=19)

x> (22)F

o

) 2x-1
lim

2 2xX +4x—3

3

13
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6}

x—>2 xX—>2
x—100 x—11
.4:( lim —:20] .5=( lim —=6J 0= (lim 4/ 1 —x =undefined)
x— 100 «/;—10 x> 11 A/x—2 -3 x—o2
Ansl = )
) ) - X ) |x +2x—8|
7=( lim |x+2]=1) 8=| lim T = undefined 9= lim ———— =
x> (3) X1 X—1| o2+ x—2
S . |4x-5|
A0=| lim ——=77=0 Al=| lim 5 = undefined Math@MUT
L x>0+ X |x| x> (5/4) 20x =13 x—15
i A=[1lim f(x)=-1, lim f(x)=1, lim f(x)=undefined |
x— 0- x— 0+ x>0
2=[1lm gx)=1, lim g(x)=1, lim g(x)=1]
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=0 lim flx)—g(x)=0 lim f(x) g(x)=-1
x—0- x— 0+ x— 0-
3= . fx) :
lim =1 lim g(x)— f(x) = undefined Math@MUT
L o0 g(x) x>0 |
A=(lim f({x)=1) 2=(lm f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—2- X — 2+ xX—>2
|4=( lim f(x)=-3.) S=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x> (-22)

1

I

Lo Nag@®s -~ ek

),0:9:9.0:9:9.0,9:9.0.9:9.:9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.0.9:9.:9.9:9.:0,0:9.9,0:9.9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9.:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0,9:9.9.9:9.0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:¢
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Limit03 Answers for No.10025

1

i _ s _ ) _ 5x-3 12
A=(lim 2x -2x"+3x-4=-1) 2=(lim 3x" -3x+4)(4x+2)=100) .3=|lm ——— ="~
x> 1 x—2 x3 dx —x—-4 29
2—4x -1 Ax=5-1 -1
.4:(lim [:_j .5=(lim —:—j 6=(lim Ax—1=42)
x—4 x—4 4 xX—>6 - X 2 x—3
Ansl =
| |x-3 | x-4
.7 =(lim |x—2|:0) 8=| lim = undefined 9= lm =
x—>2 x>3 X~ x> 4+ |x —3x—4| 5
3 3 , 6x°—11x+4
A0=| lim 7-—"=0 Al=| lim = undefined Math@MUT
L x—0- |x| X x> (4/3) |3X—4|
i A=[1lim f(x)=-4, lim f(x)=4, lim f(x)=undefined |
x— 0- x— 0+ x>0
2=[1lm gx)=1, lim g(x)=1, lim g(x)=1]
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=-3 lim f(x)-g(x)=3 lim f(x)g(x)=4
x = 0- x— 0+ x— 0+
3= . f(x) :
lim =-4 lim f(x)+ g(x) = undefined Math@MUT
L x—0- &(X) x>0 |
A=(lim f(x)=4) 2=(lm f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—5- x—> 5+ x—>5
| 4=( lim fix)=-2.) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x—>(-1.7)- x—(-1L.7)+ x—(-1.7)

[Page = 0011]
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Limit03 Answers for No.10057

1
I

(
; 3 2 - 2 2 . 3x-4 8 )
A=(lim 3x -2x"-3=13) 2=(lim (4x +3x-1)(4x " +x+2)=420) 3= lim == M
xX—>2 xX—>2 x—>4 x+1 5 a
4-x 24 —x
.4:(lim =-4j .5:(lim —:10] 6=(lim +/x—3 =undefined) || !
x%4’f;—2 xo24 S—9/x+1 x> 1 h
Ansl = ,
, o |x-2] , x—5 NI @
.7:(Mn|x+ﬂ:5) 8= lim = undefined 9= lim — == M
x—3 2 X—2 m»ﬁ|x —3x—10| 7
5 5 , [5x4 U
A0=| lm ——=77=0 Al=| lim 5 = undefined Math@MUT T
L x>0+ X |x| x—>4/5) Sx —14x+8 1y
) ] _‘.!(_
Ad=[1lim f(x)=-3, lim f(x)=-3, lim f(x)=-3]
x—0- x— 0+ x—>0
2=[1lim g(x)=-1, im g(x)=1, lim g(x) = undefined]
x—0- x = 0+ x—>0
Ans2 = lim f(x)+g(x)=-2 lim fx)-gx)=-4 lim f(x)g(x)=3
x— 0+ x— 0+ x—0-
3= W) gn)
lim =3 lim = undefined Math@MUT
L v0- 8(x) x>0 f(x) i
A=(lim f({x)=1) 2=(lm f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—2- X — 2+ xX—>2
| 4=( lim fix)=-2.) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x—>(-1.3)- x—(-1.3)+
[Page = 0012]

x—(-1.3)
DO0:0:0:0.0.00:0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.
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Limit03 Answers for No.10061

1
I

(
I , ., o osx?+3x 46) || Y
A=(lim 2x" +3x"—-x+4=82) 2=(lim (3x-2)(5x+2x"—-4)=176) I=lm ————=— M
x—3 x—>2 x—>4 4x-2 7 a
3—4x 1 Ax=5-1 1
.4:(lim [:_j .5=(Iim —z—j 6= (lim +/x—3 =undefined) t
x—>9 9—x 6 x—>6 x—6 2 x—>2 h
Ansl = ) ,
, , - ¥ -9x+20| @
7=(lim |x+3|=6) 8= lim ™ = undefined 9=| lim 1| »
x—>3 x—3 X—3| x5+ x—=35 U
4 4 , 10x°+7x—12
A0=| lim 77-—=0 A1=| lim = undefined Math@MUT T
L x— 0+ |X| X x> (4/5) |5x—4| 410
_ . L'
Ad=[1lim f(x)=4, im f({x)=4, lim f(x)=4]
x—0- x— 0+ x>0
2=[1lim g(x)=-1, im g(x)=1, lim g(x) = undefined]
x—0- x = 0+ x—>0
Ans2 = lim f(x)+g(x)=5 lim fx)—g(x)=5 lim f(x)g(x)=-4
x— 0+ x—0- x—0-
3= . fx) . f(x)
lim =4 lim = undefined Math@MUT
L x— 0+ g(X) x—0 g(X) |
A=(lim f(x)=5) 2=(lm f(x)=6) 3 =(lim f(x)=undefined)
Ans3 = x—5- x—> 5+ x—>5
|4=( lim f(x)=-5) S=( lim f(x)=-5.) O6=( lim f(x)=-5.)
x> (-53)- x> (-5.3)+ x> (-5.3)

X [Page = 0013]
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Limit03 Answers for No.10071

_ i 2 - 3 2 . 5xX —x—4 1
d=(lim 4x"+3x+3=48) 2=(lim (3x +3x"-3x)(4x+1)=1287) 3=|lim ———— =128
x—3 x—>3 x—3 X =
9-x -3 -x
.4:(hm :6] .5=( lim ———————=2j .6 =(lim 4/x —3 =undefined)
x>9 3—4alXx x>3) 1—4/x+4 x—3
Ansl = |x—l x—4
7=( lim |x+2|:1) .8:(lim =undeﬁnedj .9:(lim z—z'lJ
x—(-3) x— 1 —X x»¢|x —9x+20|
33 , 3x°+10x-8
A0=| lim ——77=-o Al=| lim = undefined Math@MUT
L x—>0- X |x| x> (2/3) |3X—2|
i A=[1lim f(x)=-2, lim f(x)=2, lim f(x)=undefined]
x—0- x— 0+ x—>0
2=[lim g(x)=4, lim g(x)=4, lim g(x)=4]
x—0- x — 0+ x—>0
Ans2 = lim f(x)+g(x)=2 lim f(x)—g(x)=-6 lim f(x)g(x)=8
x—0- x — 0- x— 0+
3= . fx) 1 :
lim == lim f(x)— g(x) = undefined Math@MUT
L x— 0+ g(x) 2 x>0 |
A=(lim f(x)=3) 2=(lm f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—3- x =3+ x—3
|4=( lim f(x)=-3.) S=( lim f(x)=-3.) .6=( lim f(x)=-3.)

x> (-3.3)-
DO0:0:0:0.0.00:0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.
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x> (33)F

x—(3.3)

S

S NTE® s~ gelk

1

I




X

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX X XXX KKK XXX XXX XXXXXXXXM6/1-6800504-00015XX
Limit03 Answers for No.10088

I

i _ X _ 5 . 4x+l
d=(lim 4x +4x+3=123) 2=(lim (2x"+3x—-4)(x—-4)=-20) 3 =] lim =
x—3 x—2 x—1 2x+3
x—-9 1 l—4x+4 -1
4:(lim [ :—j .5:( lim —:—j H=(lim 42-x=1)
rog x—81 18 x—(-3) x+3 2 xo 1
Ansl = )
) ) I —x ) |x —6x+8|
.7=(lim |x+2|:3) 8=| lim 77 =undefined 9= lm —————— =2
x—1 x—1 X—1| x =2+ x—2
_ 2 _ 3x7+7x-20
A0=| lim —7-—=0 Al=| lim = undefined Math@MUT
L o 0- |x| X x> (5/3) |3x—5|
i A=[1lim f(x)=-2, lim f(x)=2, lim f(x)=undefined |
x— 0- x— 0+ x>0
2=[lim g(x)=3, lim g(x)=3, lim g(x)=3]
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=1 lim f(x)—g(x)=-1 lim f(x) g(x)=-6
x—0- x— 0+ x— 0-
3= . flx) 2 :
im == lim g(x)— f(x) = undefined Math@MUT
L ror gx) 3 x>0 |
A=(lim f(x)=0) 2=(lm f(x)=1) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—>1
| 4=( lim fix)=-3.) S5=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x> (-2.8)-
[Page = 0015]

x> (2.8)F x—(-2.8)
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Limit03 Answers for No.10385

(
o, _ N , x+2 1) 1]V
A=(lim 5x " +4x+4=32) 2=(lm (x+3)(5x —x"+x)=774) B=lm — =" M
x—>2 x—>3 i3 3x —x—4 4 u
T—4x -1 S—4x+1 1
.4:(1m1 J_:__j .5=(hm ———————z—J 6=(lim 4/ 1 —x = undefined) !
ra9 x—49 14 v 24-x 10 X2 h
Ansl = ,
| |x-3 | -2 )| @
7=( lim |x+2|:0) 8= lim = undefined 9= lim — = M
x> (-2) r>3 x—3 x»z|x —7x+10| 3
4 4 _ 18x*+21 x—4 v
0= lim —=7—7=0 A= lim = undefined Math@MUT T
L x>0t X |x| x5 (1/6) |6X—1| 1y
_ i L
d=[1lim f(x)=1, lim f(x)=1, lim f(x)=1]
x—0- x— 0+ x>0
2=[lim g(x)=-3, lim g(x)=3, lim g(x)=undefined]
x—0- x = 0+ x—>0
Ans2 = lim f(x)+g(x)=-2 lim f(x)—-g(x)=4 lim f(x) g(x)=3
x = 0- x = 0- x— 0+
3= . fix) 1 :
im = lim g(x)— f(x) = undefined Math@MUT
L x — 0+ g(x) 3 x—0 |
A=(lim f(x)=2) 2=(lm f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—3- x =3+ x—3
4= lim flx)=-2.) S=( lim fix)=-2.) .6=( lim f(x)=-2.)
x—> (-1.8)- x—(-1.8)+
[Page = 00106]

x—(-1.8)
DO0:0:0:0.0.00:0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.
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Limit03 Answers for No.10387
(
i , ) , ) , 5x+3 13\ | ¥
A=(lim 5x"-4x+3=36) 2=(lm (4x-2)3x +2x+4)=120) .3=| lim 3 5 = M
x—3 X2 xs2 2X +4x +4x 40 a
x-=5 -1 x+1
.4:(Hm V_ =—J .5:(1m1-——————:aj 6= (lim +/x—3 =undefined) t
Ans] — xo2s 25-x 10 xo(-1) 1—=a/x+2 X2 h
x—1 X — | @
7=(lim |x+1|=2) 8=| lim —:undeﬁnedj .9=(lim 2—:-1] Y,
x> 1 x> 1 X—1| x%&|x —5x+6|
5 05 , |5x-2] v
A0=| lim —+77=0 A= lim 5 = undefined Math@MUT T
L x—>0- X |x| x—>2/5) 20x =13 x+2 11
_ . L (]
Ad=[1lim f(x)=4, lim f(x)=4, lim f(x)=4]
x—0- x— 0+ x>0
2=[1lim g(x)=-4, lim g(x)=4, lim g(x) = undefined]
x—0- x = 0+ x—>0
Ans2 = lim f(x)+g(x)=8 lim f(x)—g(x)=38 lim f(x)g(x)=-16
x— 0+ x—0- x—0-
3= . f(x) :
lim =1 lim f(x)— g(x) = undefined Math@MUT
L x — 0+ g(x) x—0 a
A=(lim f(x)=3) 2=(lm f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x — 4+ x—4
| 4=( lim fix)=-5) S5=( lim f(x)=-5) .6=( lim f(x)=-5.)
x> (4.1)

x —> (-4.1)- x—> (-4.1)+
):0.0:0.0:0.0:0.0:0.0:0.0.0:0:0.0:0.0.0.0.0.0.0.9.0:0.0:0.0:0.0:0.0:0.:0.0.0:0.0.0.0.0.0.0.9.0.0.0:0.0:0.:0:0.0:0.:0.0.:0.0.0.0.0.0.0.0.0.0.0.0:0.0:0.:0:0.:0:0.0:0.0:0:0.0:0.0.0.0.0.0.0.0.0:0:0:0:0.0:0.:0:¢

X [Page = 0017]




J=(lim 4x +x-4=30)

x—(-1.9)+

x—(-1.9) i
PN RETSEERN RS HD'66/0°0:0:0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0:0

) 5 ) x—4 -1
2=(lm (x+2)(3x —4x—-1)=-6) 3= lim =
x—>2 x—>1 x—o?2 S5x+4 7
x—100 x—1
.4:(hm —————:ﬂﬂ jz(hm'——————:AJ H=(lim 4/2-x=1)
Ans] = x> 100 J;—IO xo1 2—4/x+3 x> 1
e , o |x-1] _ x—4 1
.7:(hm|x+1|:4) 8= lim = undefined Y= lm =7
x—3 rs1 x—1 x%M|x—6X+8| 2
11 , 6x +11x—10
A0=| lm ——-77=0 Al=| lim = undefined Math@MUT
L x>0+ X |x| x> (2/3) |3X—2| 4
i Ad=[1lim f(x)=-5 lim f(x)=35, lim f(x)=undefined]
x— 0- x— 0+ x>0
2=[lim g(x)=-5, lim g(x)=-5, lim g(x)=-5]
x—0- x — 0+ x—>0
Ans2 = lim f(x)+g(x)=-10 lim f(x)—g(x)=0 lim f(x) g(x)=-25
x— 0- x— 0- x— 0+
3= . f(x) :
lim =-1 lim g(x)— f(x) = undefined Math@MUT
L oo+ g(x) x>0 i
- I=(lim f(x)=2) 2=(lm f(x)=3) 3=(lim f(x)=undefined)]
Ans3 = x—2- X — 2+ xX—>2
| 4=( lim fix)=-1.) S5=( lim f(x)=-1.) .6=( lim f(x)=-1.)
L x> (-1.9)-
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Limit03 Answers for No.10914
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Limit03 Answers for No.10945

1
1

«(
i 2 11 2)
. ) . 3 o o 4x —-x-2
Jd=(lm 3x"+x-4=0) 2=(lm (4x-3)(2x +x" +3x)=130) 3=|lm ————=3 M
x—>1 x—>2 x—>2 x+2 a
) 64 — x ) 5—x ) ¢
A4=| lim =-16 S=|1lim ———=-2 b6=(lim 4/ x— :«/5)
x—> 64 1/;—8 x—35 x—4 -1 x—>3 h
Ansl = ) ,
) ) X — ) |x +3x—4| @
.7 =(lim |x—3|:1) 8=\ lim 77 =undefined 9=lm ——=-5 M
x—>2 x—>2 x_2| x—1- x—1 U
.5 05 _ |6x—5]
A0=| lim 7—7-—"=0 A= lim 5 = undefined Math@MUT T
L x— 0+ |X| X x>(5/6) 18x"—=9x-5 11
e

J=[1lim f(x)=-4, lim f(x)=-4, lim f(x)=-4]

Ans2 =

x— 0-

2=[lim g(x)=-3, lim g(x)=3, lim g(x)=undefined]
lim f(x)g(x)=-12

Ans3 =

X [Page = 0019]

x — 0-
lim f(x)+g(x)=-7
x — 0-
3= o flx) -4
lim =—
L x — 0+ g(X)
A=(lim f(x)=2)
x—2-
4=(C lim f(x)=-5.)
x— (-5.6)-

x— 0+

x— 0+

lim f(x)-

x— 0-

lim f(x)+ g(x) = undefined

x—0

2=(lim f(x)=3)

x—0

x—0

g(x)=-1

x— 0+

x— 2+ x—2
S=( lim f(x)=-5.) .6=( lim
x— (-5.6)+ x—(-5.6)

Math@MUT

3 =(lim f(x)=undefined)
f(x)=-5.)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKKXKKXKKXKKXXKXKKX KKK KKK XXX KKK KKK KKK KKK KKK XKXKKXKM6/1-6800504-00020XX

Limit03 Answers for No.10954

1

I

(
I . 2 . 3 2 . x—2 1 )
A=(lim x"—-x=6) 2=(lim (5x+2x +4x)(3x-3)=0) .3=| lim 3 5 =-1 M
x—3 x> 1 x>1 2Xx =3x +2x u
81 —x l-4x+3 1
.4:(lim =18j .5:( lim —:—] 6=(lim +/x -2 =undefined) || !
x 81 9—«/; v () —2-x 2 x—2 h
Ansl = )
) ) X — ) |x —8x+15| @
7=( lim |x—1|:2) 8= lim 77 =undefined 9=| lim =2 M
x—(-1) x—1 X—1| x5+ x=35 U
55 _ |4x-3]
A0=| lim —7—-—=0| .//=| Ilim > = undefined Math@MUT T
L x— 0+ |X| X x—>3/4) 20x"—=19x+3 11
) ) L ‘.!(_
Ad=[lim f(x)=-1, lim f(x)=-1, lim f(x)=-1]
x—0- x— 0+ x—>0
2=[1lim g(x)=-1, im g(x)=1, lim g(x) = undefined]
x—0- x = 0+ x—>0
Ans2 = lim f(x)+g(x)=0 lim f(x)—-g(x)=0 lim f(x)g(x)=1
x— 0+ x —0- x — 0-
3=l ) |
lim =-1 lim f(x) g(x) = undefined Math@MUT
L roo0+ 8(x) x>0 i
A=(lim f(x)=2) 2=(lm f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x— 2- x— 2+ x—2
4= lim flx)=-2.) S=( lim fix)=-2.) .6=( lim f(x)=-2.)
x> (22) x> (2.2)+ x> (2.2)

),0:9:9.0:9:9.0,9:9.0.9:9.:9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.0.9:9.:9.9:9.:0,0:9.9,0:9.9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9.:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0,9:9.9.9:9.0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:¢
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Limit03 Answers for No.10966

_iﬁ—
I ; 3 2 . 2 2 . 2x+2 -8 11 )
A=(lim 3x +x"+3=31) 2=(lm (2x +3x+3)(4x +3x+1)=391) 3=|lm ——— =~ M

X2 X2 r3 x —3x-3 3 a
4—4x -1 x—4-1 -1
.4:(1m1 J_:—J .5:(Hm ———————:—J .6=(lim +/x—2 =undefined) !
x— 16 x—16 8 x—=>5 5-x 2 x—>2 h
Ansl = )
| x-3 x4 N[ @
.7:(Mn|x—ﬂ:0) 8= lim = undefined I=|lm =7 M
X2 y3 3-X x»¢|x —x—12| 7
303 15X —22x+8 v
A0=| lim 7—7-—=0 A= lim = undefined Math@MUT T
L xa0+|x| X x> (2/3) |3X—2| 1)
) ) _‘.r(_
Ad=[lim f(x)=1, lim f(x)=1, lim f(x)=1]
x—0- x— 0+ x>0
2=[lim g(x)=-3, lim g(x)=3, lim g(x)=undefined]
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=4 lim f(x)-g(x)=4 lim f(x) g(x)=3
x — 0+ x—0- x — 0+
3= . fx) -1 :
lim = lim g(x)— f(x) = undefined Math@MUT
L x— 0- g(x) 3 x—0 |
A=(lim f(x)=3) 2=(lm f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—3- x =3+ x—3
| 4=( lim fix)=-2.) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x> (-2.3)- x> (23)+
[Page = 0021]

x—(2.3)
DO0:0:0:0.0.00:0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.
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x> (-1.1)-

Limit03 Answers for No.11154
| , , _ ) 5 —2x+1 73)]
A=(lim 3x"-4=23) 2=(lm (2x"-2x+4)(3x+2)=20) 3=|lm ———————=—"
x—3 x—1 x4 3x+4 16
100 — x Ax=3-4 1
.4:( lim —:-20] .5:(lim —:—j OH=(lim /x—-1=1)
Ans] = x— 100 «/;—10 19 x—19 8 x—>2
- x—1 1
7=(lim |x=2|=1) .8:(lim | |:undeﬁnea’j .9=(lim z—:—j
x> 1 x—2 —-X x> 1+ |x +3x—4| 5
| 2 | [5x—1]
A0=| lim —+77=0 A= lim 5 = undefined Math@MUT
L x—>0- X |x| x> (1/5) 15x" =23 x+4 i
i A=[1lim f(x)=-1, lim f(x)=1, lim f(x)=undefined]
x— 0- x— 0+ x>0
2=[lim g(x)=3, lim g(x)=3, lim g(x)=3]
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=2 lim f(x)—g(x)=-4 lim f(x) g(x)=3
x—0- x — 0- x— 0+
3= o fx) 1 :
lim = lim f(x)— g(x) = undefined Math@MUT
L x— 0+ g(x) 3 x>0 |
A=(lim f(x)=2) 2=(lm f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—2- X — 2+ xX—>2
| 4=( lim fix)=-1.) S5=( lim f(x)=-1.) .6=( lim f(x)=-1.)
x> (-L1)+ x> (-1.1)

1

I
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Limit03 Answers for No.11191
(
I . . o ) o 5P +4x+1 29)|] Y
A=(lim 2x —-3x=45) 2=(lm (x*+1)(x"-2x-4)=-10) I=lm ————=— M
x—>3 x—>3 x—3 x+1 2 u
4-x Jx—=2-4 1
.4:(lim :-4] .5:(1im —:—J 6=(lim Ax—1=42) t
Ans] = x%4’%;—2 xs1s x— 18 8 x—>3 h
. _|x-3) P -x-20] | @
.7:(hm|x+3|:4) 8= lim = undefined 9= lm ——=9 M
x—>1 x—3 x—3 x — 5+ x=35 U
, 3 _ 8x’—10x+3
10=| lim 75-—=0| .//=| lim = undefined Math@MUT T
L m%%|x| x x> (3/4) |4x—3| 11y
) _‘.r(_
Ad=[1lim f(x)=-3, im f(x)=3, lim f(x)=undefined]
x— 0- x— 0+ x>0
2=[1lim g(x)=-4, lim g(x)=-4, lim g(x)=-4]
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=-7 lim f(x)—g(x)=7 lim f(x)g(x)=12
x—0- x— 0+ x— 0-
3= . flx) 3 - fx)
lim = lim = undefined Math@MUT
L soor 8(X) 4 0 glx |
A=(lim f(x)=3) 2=(lm f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x — 4+ x—4
| 4=( lim fix)=-4) S5=( lim f(x)=-4) .6=( lim f(x)=-4.)
x> (-3.1)

x> (-3.1)- x> (3.1)F
DO0:0:0:0.0.00:0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.
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Limit03 Answers for No.11309

) 5 ) 5 ) 3x+2
A=(lim 5x"+2=7) 2=(lim (x-2)(3x" -3x-2)=16) 3= lim =5
x—>1 x—>3 x—>1 3x-2
x-9 VJx—4-2 1
.4=(Mn =6j .5:(hm'——————:—j 6=(lim 4/ 1 —x = undefined)
x—>9 3—1/; x—>8 x—38 4 x—>2
Ansl = 5
_ _ |x—1 _ |x+x—2ﬂ
7=( lim |x+1|:2) 8= lim = undefined Y= lm —=9
x—(-3) x—>1 X— x —> 4+ x—4
2 2 _ 20 x> — 41 x + 20
A0=| lim —+7—7=0| .I/=| Ilim = undefined Math@MUT
L x>0+ X |x x> (4/5) |5x_4|
i Ad=[1lim f(x)=-4, lim f(x)=4, lim f(x)=undefined]
x— 0- x— 0+ x>0
2=[lim g(x)=2, lim g(x)=2, lim g(x)=2]
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=6 lim fix)—g(x)=2 lim f(x)g(x)=-8
x— 0+ x— 0+ x— 0-
3= - fx) - fx)
lim =-2 lim = undefined Math@MUT
L x—0- g(X) x>0 g(X) |
A=(lim f(x)=0) 2=(lm f(x)=1) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—>1
| 4=( lim fix)=-3.) S5=( lim f(x)=-3.) .6=( lim f(x)=-3.)

x> (-2.5)-
DO0:0:0:0.0.00:0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.
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x> (2.5)F x—(-2.5)
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Limit03 Answers for No.12483

1
I

“(
o , i Cs¥—3x—1 67)]| 7
Ad=(lim 4x"-3x+4=14) 2=(lim (3x"+2)(x+4)=203) I=lm ——————=— M
x—>2 x—>3 x—>4 x+1 5 a
-2 1 S5—-4x+4 -1
.4:(1im x :—J .5:(lim = j 6=(lim 4fx—1=42) t
Ans] = M 4 x—21 x—21 10 x—3 h
. o x-3 ‘ x—1 [ @
7=( lim |x-1|=4) 8= lim T = undefined 9= lim —————==|| y
x> (3) X3 X—3| m»H|X —5x+4| 3
.4 4 . |5x-2| U
A0=| lim 7—7-—"=0 A= lim 5 = undefined Math@MUT T
L x%m|x| X x—>2/5) 20x"+7x—-06 11y
) _‘.r(_
A=[1lim f(x)=-5, lim f(x)=35, lim f(x)=undefined |
x— 0- x— 0+ x>0
2=[1lim g(x)=4, lim g(x)=4, lim g(x)=4]
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=-1 lim f(x)—g(x)=1 lim f(x)g(x)=-20
x—0- x— 0+ x—0-
3= o flx) 5 - fx)
lim =— lim = undefined Math@MUT
L soor 8(X) 4 o0 gx) |
A=(lim f(x)=2) 2=(lm f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—2- X — 2+ xX—>2
| 4=( lim fix)=-1.) S5=( lim f(x)=-1.) .6=( lim f(x)=-1.)
x—>(-1.1)- x—(-L1)+
[Page = 0025]

x—=(-1.1)
DO0:0:0:0.0.00:0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.
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Limit03 Answers for No.12557

| , ) o, ) 3 42x—1
A=(lim 4x" —4x=24) 2=(lm (x"+4x+4)(5x" +3)=368) 3=|lm ——————=
x—>3 x—>2 x—>1 x-3
16 —x I —4/x+3 -1
.4:(lim :8] .5:( lim —:—] b6=(lim 4/3-x=1)
4 x>16 4—4/x x> (-2) x+2 2 x 2
nsl = 2
) ) 2—-x ) |x +4x—5|
7=( lim |x+3|:1) 8=\ lim 77 =undefined 9= lim ——=6
x—(-2) x—2 X—2| x— 1+ x—1
11 _ 5x°+7x-6
A0=| lm ——77=-0| .[l=| lim ——F -7  =undefined Math@MUT
L x—0- X |x| x—=(3/5) |5X—3|
i A=[1lim f(x)=-3, lim f(x)=3, lim f(x)=undefined |
x—0- x— 0+ x—>0
2=[lim g(x)=-3, lim g(x)=-3, lim g(x)=-3]
x—0- x — 0+ x—>0
Ans2 = lim f(x)+g(x)=0 lim f(x)—g(x)=0 lim flx)g(x)=9
x— 0+ x—0- x—0-
3= . fx) - f(x)
lim =-1 lim = undefined Math@MUT
L o0+ 8(X) x>0 8(X) |
A=(lim f({x)=1) 2=(lm f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—2- X — 2+ xX—>2
| 4=( lim fix)=-2.) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x> (-1.4) x> (-L4)+ x> (-1.4)

X [Page = 00206]
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Limit03 Answers for No.12637

1
I

(
_ ., _ . . Sx+1 )
A=(lim 3x+2x" —-x—-1=95) 2=(lm (4x +x+1)(2x-4)=0) 3= lim =1 M
x—>3 x—>2 x—>3 X a
64 — x Ax-5-3 -1
.4:(1m1 :16] .5=(hm.———————=—J .60=(lim 4/ 1 —x = undefined) !
x—>64 8—4/x r14 14-x 6 x—>3 h
Ansl = ,
) ) l1-x ) x-3 1 @
7=(lim |x-1|=0) 8=\ lim ™ = undefined 9=| lim 5———="|||
x> x> 1 X—1| xay|x—2x—3| 4
3 3 , 3x°—16x+5 v
A0=|lim 77—-—=0 AI=| lim = undefined Math@MUT T
L x%&|x| X x—(1/3) |3X—1| A1)
] _‘.r(_
A=[1lim f(x)=-2, lim f(x)=2, lim f(x)=undefined]
x— 0- x— 0+ x>0
2=[1lim g(x)=-1, lim g(x)=-1, lim g(x)=-1]
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=-3 lim f(x)—g(x)=-1 lim f(x) g(x)=-2
x — 0- x — 0- x— 0+
3= - f(x) :
lim =-2 lim g(x)— f(x) = undefined Math@MUT
L x— 0+ g(x) x—0 |
A=(lim f({x)=1) 2=(lm f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—>1
| 4=( lim fix)=-3.) S5=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x> (-3.9)- x> (3.9)+
X [Page = 0027]

x—(-3.9)
DO0:0:0:0.0.00:0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.
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Limit03 Answers for No.12689

o

vod S¥ +3x -

6=(lim 4/3—x

J=(lim 5x°+3x+1=27)
x—1
4 (1' o-x 8] 5(
b4 = m ——  =- D=
¥ —4
Ansl = %16«/7

7=( lim |x-2|=4)
x> (-2)

i o)
A0=| Im 7—7-—"=0
L x%0+|x| X

A1 :[ lim
x—(2/3)

x— 0-

x—0-

Ans2 =

x — 0+
3= . fix)
lim =

i oo gx)
J=(lim f(x)=3)
. x—4-
AnS3= 4 lim
x = (-2.7)-

1

f(x)=-3.)

[Page = 0028]

lim

2=(lim 2x-2)(3xX’ +x°+4)=0)
x—2

X+

x> (1) 1=

.8:(lim
x—1

lim f(x)+g(x)=2

S=(

[x—1] j
= undefined
x—1
15 +2x—8
|3 2| = undefined
x_

x— 0+

x— 0+

lim f(x)—g(x)=2

x — 0- x — 0-
g(x)
im = undefined Math@MUT
x—>0 f(X)

2=(lim f(x)=4)

X — 4+

lim  f(x)=-3.)

x—(2.7)+

J=[lim fx)=1, lim f(x)=1, lim f(x)=1]

x—>0

2=[1lim g(x)=-1, im g(x)=1, lim g(x) = undefined]

x—0

x—>4

lim f(x)g(x)=-1

6=( lim

x> (-2.7)
DO0:0:0:0.0.00:0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.

S5x—4

lim

x—2

( . |x2+2x—3|
9= lim — =4

x— 1+ x—1

Math@MUT

3 =(lim f(x)=undefined)

f(x)=-3.)

S
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Limit03 Answers for No.13349

_iﬁ_
I . 3 2 . 2 2 o Ax ] 7
d=(lm 4x -2x"+2x=96) 2=(lim (3x +x)(2x " —x+4)=140) .3=| lim = undefined M

x—3 x—2 x—4 X a
S—4/x 1 x—23
.4=(hm VF!T_} .5:(Hm ———————=JOJ 6= (lim 4/ x—3 =undefined) !
B vr»2s 25—-x 10 x523 5—4/x+2 x52 h
Ansl = ,
. o x-1] | -3 1| @
7=(lim |x+2|=4) 8=/ lim = undefined 9= lim —————==|{| 4
X2 vl Xx—1 m»y|x —8x+15| 2 .
5 5 , 3x+7x—6
A0=| lim —F—-—=o Al=| lim —— 7 =undefined Math@MUT T
L x%&|x| X x—(2/3) |3X—2| 41
_ . L
Ad=[lim f(x)=1, lim f(x)=1, lim f(x)=1]
x—0- x— 0+ x>0
2=[1lim g(x)=-4, lim g(x)=4, lim g(x) = undefined]
x—0- x = 0+ x—>0
Ans2 = lim f(x)+g(x)=-3 lim flx)-gx)=5 lim f(x)g(x)=4
x = 0- x = 0- x— 0+
3= o fx) 1 . gx)
lim =— im = undefined Math@MUT
L rsor gx) 4 x>0 f(x) |
A=(lim f(x)=4) 2=(lm f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—5- x—> 5+ x—>5
| 4=( lim fix)=-3.) S5=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x> (-2.3)- x> (23)+
[Page = 0029]

x—(2.3)
DO0:0:0:0.0.00:0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.
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Limit03 Answers for No.13519

J=(lim 3x*=3x=18)

x—3

4 (1' o-x 8}
. = m = -
x> 16 «/;—4

Ansl =
7=( lim |x-1|=3) lim
x—(-2)
.3 3 .
.10:(hm ———=OJ .1]:( lim
L x—>m-|x| X
x — 0-
x—0-
Ans2 = lim f(x)+g(x)=3
x— 0+
3= f(x
lim ():-2
L x — 0- g(X)
J=(lim f(x)=2)
. x—2-
3= 4 lim f(x)=-5) 5=
x— (-5.1)-

X [Page = 0030]

2=(lim (5x°+4x+3)(x+3)=155)

x—2

J=

(lim
x—7

3—@;]

7—x

6

X
8 =( im T = undeﬁned)
x—>2 X—2|

|6x—5]

x—>(5/6) 12x-4x-5

= undeﬁned]

.3:(lim

2x° +4

22X 44 &J‘
4 X +3x-3 25

6=(lim /x—1=1)

x—2

.9=( lim
x— 3+

x—3

¥ —x—6
—:5

Math@MUT

J=[lim flx)=2, lim f(x)=2, lim f(x)=2]

x— 0+

2=[1lim g(x)=-1, im g(x)=1, lim g(x) = undefined]
lim f(x)g(x)=2

x— 0+

x—>0

x—0

lim f(x)— g(x)=3

x—0- x— 0+
f(x)
= undefined Math@MUT
x—>0 g()C) A
2=(lim f(x)=3) 3 =(lim f(x)=undefined)

X2+ x—>2
( lim f(x)=-5.) .6=( lim f(x)=-5.)
x> (5.1)+ x> (-5.1)

1

Sl NoE®s -~ gelx

),0:9:9.0:9:9.0,9:9.0.9:9.:9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.0.9:9.:9.9:9.:0,0:9.9,0:9.9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9.:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0,9:9.9.9:9.0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKKXXKXKKXKKXKKXKKXKKXKKX KKK KKK KKK KKK XXX KKK KKK KKXKKXKM6/1-6800504-00031XX

x—(-1.3)+

Limit03 Answers for No.14276
(
I . 3 2 . 2 . x—3 1 )
A=(lim x +3x " +x—-4=53) 2=(lim (x+4)(5x -2)=108) B=lm — = M
X3 x—>2 x4 4x =3x-2 50
4-fx -1 4-x !
.4=(Hm = .5=(hm'——————=6j .0 =(lim 4/ x—2 = undefined) t
Ansl = eo16 X—16 8 x4 3—4/x+5 x> h
_ x—1 | @
7=(lim |x-1|=0) .8:(lim | |:undeﬁnea’j .9:(lim 2—:4} Y,
x> x—>3 X~ x%b|x —3x+2|
1 |2x-1] v
A0=| lim ——-77=0 A= lim 5 = undefined Math@MUT T
L x>0+ X |X| x>(1/2) 10x"=9x+2 )
) _‘.r(_
Ad=[1lim f(x)=-4, lim f(x)=4, lim f(x)=undefined]
x— 0- x— 0+ x>0
2=[lim g(x)=4, lim g(x)=4, lim g(x)=4]
x—0- x— 0+ x—>0
Ans2 = lim fx)+g(x)=8 lim flx)—g(x)=0 lim f(x)g(x)=-16
x— 0+ x— 0+ x = 0-
3= . f(x) . gx)
lim =-1 lim = undefined Math@MUT
L v—0- 8(x) x>0 f(x) |
A=(lim f(x)=0) 2=(lm f(x)=1) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—>1
| 4=( lim fix)=-2.) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x> (-13)

x> (-1.3)-
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Limit03 Answers for No.14380

X [Page = 0032]

x> (-3.2)- x> (32)F
DO0:0:0:0.0.00:0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.

i , s , , ) . 3x-3 3
A=(lim 5x -2x"+3x+1=39) 2=(lim (5x +4x)(x"+2)=168) 3 =| lim 5 ="
x—2 x—>2 o3 4x +2 19
) x—36 ) 19 —x )
4=\ lim =-12 S=|lim ————=-8 0= (lim +/x—2 =undefined)
x—36 6—#? xo>19 //x—-3 -4 x—2
Ansl = )
- I , |x—8x+1ﬂ
7=( lim |x-1|=4) 8= lim T = undefined 9= lim ——————=2
x> (-3) x—2 X—2| x— 5- x—35
1 _ |2x-3]
A0=| lim —+7 7= Al=| lim 5 = undefined Math@MUT
L x>0+ X |x| x—>3/2) 10x"—=19x+6
i Ad=[1lim f(x)=-3, im f(x)=3, lim f(x)=undefined]
x—0- x— 0+ x—>0
2=[lim g(x)=-3, lim g(x)=-3, lim g(x)=-3]
x—0- x — 0+ x—>0
Ans2 = lim f(x)+g(x)=0 lim f(x)—g(x)=0 lim f(x)g(x)=-9
x— 0+ x—0- x — 0+
3= . fx) - fx)
lim =1 lim = undefined Math@MUT
L x—0- g(X) x>0 g(X) |
A=(lim f(x)=0) 2=(lm f(x)=1) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—>1
| 4=( lim fix)=-4) S5=( lim f(x)=-4) .6=( lim f(x)=-4.)
x> (-32)
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d=(lim 4x*=4)

2=(lim (x-1)(2x*—4x-1)=-1)

(
; (1, 2x+4 10j_ ?)
3=|lm ————=__ M
x> 1 X2 x>3 5x—-2x-2 37 u
3—4x 1 Ayx-2-4 1
.4=(hm J_:—j .5=(hm.———————=—j 6 =(lim 4/ x—3 = undefined) t
X9 -x 6 ro1g x— 18 8 x> 1 h
Ansl = ) ,
) ) 1 —x ) h +x—20| @
.7:(lm1|x+2|:1) 8=| lim 77 =undefined Y=lm — =9 M
x> (-1) xo1 x—1| Y 4t x—4 U
.4 4 _ |4x-3)|
A0=| lim —+7—7=0| .I/=| Ilim 5 = undefined Math@MUT T
L x>0+ X |X x> 3/4) 20x =31 x+12 11y
) _‘.r(_
A=[1lim f(x)=-5, lim f(x)=35, lim f(x)=undefined |
x— 0- x— 0+ x>0
2=[lim g(x)=2, lim g(x)=2, lim g(x)=2]
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=-3 lim f(x)-g(x)=3 lim f(x) g(x)=10
x — 0- x— 0+ x— 0+
3= o fx) S :
lim = lim f(x)+ g(x) = undefined Math@MUT
L x— 0- g()C) 2 x—0 |
A=(lim f({x)=1) 2=(lm f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—2- X — 2+ xX—>2
| 4=( lim fix)=-5) S5=( lim f(x)=-5) .6=( lim f(x)=-5.)
x> (4.7)
[Page = 0033]

x> (-4.7)F x— (-4.7)
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